Skeleton Tower

1. How many cubes are needed to build this tower?
Show your calculations

2. How many cubes are needed to build a tower like this, but 12 cubes high?
Explain how you figure out your answer.
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Skeleton Tower (continued)

3. How would you calculate the number of cubes needed for a tower » cubes high?
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Skeleton Tower Rubric

Section
Points | points
1. Gives correct answer: 66 2
Partial credit:
Adds together the numbers 1, 5, 9, 13, 17 and 21 with no more than one (1)
error.
2
2. Gives correct answer: 276 1
Gives a correct explanation such as:
Each layer has 4 more cubes than the layer above. 2
Adds together 12 layers.
Alternatively:
or
May add the number of cubes in one wing of the tower, 2
and then multiply by 4.
The number of cubes on the 12 layers are 1,5,9,13,17,21,15,29,33,37,41,45 1
4
3. Gives correct answer: 2n’ —n 2
Partial credit:
Finds the number of cubes for at least the first 4 towers to try to find the (1)
pattern. 1, 6, 15, 28, 45, 66 .....
Provides a correct explanation showing how the formula can be found. 2 4
Total Points 10










Skeleton Tower

-

1. How many cubes are needed to build this tower? 66 cufes

Show your calculations

2. How many cubes are needed to build a tower like this, but 12 cubes high?

Explain how you figure out your answer. 276
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Skeleton Tower (continued)

3. How would you calculate the number of cubes needed for a tower n cubes high?
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288 - 13 ~ L2967
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Skeleton Tower

1. How many cubes are needed to build this tower? Vi

Show your calculations

each side Wio centey post ros height (14124311 =15
4 sides = o
+ (p cubes iN centey =bbk

2. How many cubes are needed to build a tower like this, but 12 cubes high?
Explain how you figure out your answer. Z7£,

12+4 (142y ) 124 4((12:5)+0) =121406) = \ 21264 = 734

(1 Sound the famula Hystd
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Skeleton Tower (continued)

3. How would you calculate the number of cubes needed for a tower » cubes high?

Nt 4 (142 (n-)

4 sides wWio cemer would always be 1471234 - uatil the 1y Ipey 4ust
befoe n:(n-D., e Entey post is e Wdhest,so nPreidnt n of e towey deteining
ol ol ne Ceney post s
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Skeleton Tower l z;

1. How many cubes are needed to build this tower? bb cY 5’95
Show your calculations

Ig)/l', 4‘5‘?);&6

2. How many cubes are needed to build a tower like this, but 12 cubes high?.

Explain how you figure out your answer. 3‘7 6 cu bQS
= bergd? ofP'tr  Formyla each wing Holblocks .:(7[_'&
ANYG-Dx axleD) >

Tbt‘t/t, Uac/tis L!Wﬂngs ’
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Skeleton Tower (continued)

3. How would you calculate the number of cubes needed for a tower n cubes high?

T3
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Skeleton Tower i 4

VAR AL I
| less

1. How many cubes are needed to build this tower? C’ é Gubaf
Show your calculations

‘(5 4,
W,

2. How many cubes are needed to build a tower like this, but 12 cubes high?

-

Explain how you figure out your answer. 7 270 C(/bé’,f

/

HL+2+44C 47+ @440+ (G ,,/
(6e){H)= 204
W2 27¢ -
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Skeleton Tower (continued)

3. How would you calculate the jurr}il\:)eimo:f Dcubes needed for a tower # cubes high?
[+ 25t . j‘”@*l} T =
G (o) +

() +

10Tt
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Skeleton Tower i 5

: E Q) Cw e
1. How many cubes are needed to build this tower?
Show your calculations

¢ B3t 1t) +p
Yoo

dofeidey sidhe s midol ¢ co\nmp

2. How many cubes are needed to build a tower like this, but 12 cubes high? .
Explain how you figure out your answer. 270 Quet s

Twsed thefernatg 9 (WHQF AT T cdg ey a0 4) VHie

= q’(bb)"fb = 244b= 270
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Skeleton Tower (continued)

3. How would you calculate the number of cubes needed for a tower » cubes high?
L would We the orpwa Y (—=—
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